THE GENETIC CODE
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Here is a portion of DNA:

G A C T A G G T A C G A A T C G T A A G C A C T

You can assume that it is the sense strand of a gene and that it is read from left to right.

1.
Write out the bases for its complementary strand.

2.
Write out the sense strand organised into triplets.

3.
Write out the messenger RNA strand that will be made from it.

4.
Write out the sequence of amino acids that it codes for.

There are various types of point mutations (changes affecting one base).

5.
Imagine that an additional Thymine (T) is added (inserted) to the original sequence between base 3 (C) and base 4 (T). Write out the amino acid sequence this strand now codes for.

6.
Now imagine that a base is removed (deleted) from the original sequence. Remove base 14 (T) and then work out the amino acid chain the strand codes for.

7.
Finally alter (substitute) base 12 (A) by changing it to a Cytosine (C) and work out the new amino acid sequence.

8.
Which type of mutation seems to have least effect.

8.
Explain why the code uses more than one triplet for most amino acids.

